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QUESTION 1

Given the code fragment: 

What type of result is printed? 

A. Time of the Epoch (in milliseconds) 

B. Julian date 

C. Era 

D. Time zone abbreviation 

E. Full-text time zone name 

Correct Answer: E 

Output could be: 

Result: Central European Time 

Note: To make the code work you would need the following code which get today\\'s date in Java. 

Date today = new Date(); 

Reference: http://www.java67.com/2013/01/how-to-format-date-in-java-simpledateformat-example.html 

 

QUESTION 2

Given: and the code fragment: 
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What is the result? 

A. A compilation error occurs. 

B. 2000.0 

C. 1500.0 

D. 0.0 

Correct Answer: A 

The line mapToInt(Person::GetSalary) will cause a compile error. 

If it is replaced by the following line, a "." is added in the beginning of the line, the result would be 1500.0: 

.mapToInt(Person::getSalary) 

 

QUESTION 3

Which two elements must be present in any valid pipeline? (Choose two.) 

A. a lambda expression or a method reference 

B. a source 
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C. one or more intermediate operations 

D. a reduction operation 

E. a terminal operation 

Correct Answer: BE 

A stream pipeline consists of a source (such as a Collection, an array, a generator function, or an I/O channel); followed
by zero or more intermediate operations such as Stream.filter or Stream.map; and a terminal operation such as
Stream.forEach or Stream.reduce. 

Reference: https://docs.oracle.com/javase/8/docs/api/java/util/stream/package-summary.html 

 

QUESTION 4

Given the following incorrect program: 

Which two changes make the program work correctly? (Choose two.) 

A. The MyTask class must be modified to extend RecursiveAction instead of RecursiveTask. 

B. The computeDirectly() method must be enhanced to fork() newly created tasks. 

C. The compute() method must be changed to return an Integer result. 

D. The THRESHOLD value must be increased so that the overhead of task creation does not dominate the cost of
computation. 

E. Results must be retrieved from the newly created MyTask instances and combined. 

F. The midpoint computation must be altered so that it splits the workload in an optimal manner. 

Correct Answer: CE 

The compute() method must return an Integer result. The results of the InvokeAll tasks must be combined. 

Incorrect Answers: 
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A: RecursiveAction is just like RecursiveTask except it does not return a result 

F: The Midpoint, mid = (low + high)/2, is fine. Reference: http://www.baeldung.com/java-fork-join 

 

QUESTION 5

Given: What is the result when you compile the code and execute the command: java MyApp kava 

A. kava 

B. Kava 

C. kawa 

D. Kawa 

E. An exception is thrown at runtime. 

Correct Answer: D 
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